Update

1. RHRS target y calibration (preliminary)
2. Mismatch

Min Huang
01/08/2013
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RHRS 1 g Y
e Settings
— Beam energy 2.253GeV
— OT target field at 6 deg, Gep target magnet config
— Good septum

* Optics runs

— Beam position scan (-4,0) (0,0) (4,0)(mm) at dp=
3.5%

— 22256, 22259, 22254
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e Start from initial matrix and lowest possible x
order of each (theta, y, phi) term

 Add a step to prevent mis-assigning sieve hole
ID



1. Fp_thvs. fp_ph
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Fp_th vs. Fp_ph
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2. Cut on each column of sieve hol
prevent mis-assigning hole IDs
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Tg_y vs. Tg_ph
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theta_target vs. phi_target

h2

0.08 {
= Entries 9584 )
C Mean x -0,001824
0.06 Meany (.009621
- RMS x  0.001533
0.04— (RMSy  0.01061)
0.02—
B — 30
0
-0.02/ 20
-0.04/-
L 10
-0.06—
_0 0 | | | I | | I | | | | | I | | | l 1 1 | | - 0
g -8.04 -0.03 -0.02 -0.01 0 0.01 0.0 0.03 0.04
theta_target vs. phi_target
0.08 -
Entries 36541
L Meanx 0.01671
0.06— miﬁ G Meany 0.01783
D L o RMS x 0.002385
0.04— 5 |[RMSy  0.01565
- —60
0.02- ¥
- 50
0— 4 i .
- # —40
-0.02 o
B —30
-0.04-
e 20
-0.06— 10
0 0 | - | 1111 | 111 | 11 1 | 1 11 | 111 | 11 1 | 1111 0
SO -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04



C+rAanc
Steps

3. Cut carbon elastic for each hole
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Initial pattern
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Transport Functions Package

Goal: Understand the mismatch between
optics data calibration & snake model fitting

Setting in Snake: O target field, 484816 good
septum, 2.251 GeV e-, point (unrastered)
beam

Fitting functions

— Forward

— Reverse

See talks by Chao/lJixie for simulation results
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Any suggestions from this meeting
LHRS straight through targety

2"d jteration of matrix angles and dp
Pointing calculation and uncertainty



